12 _
1. tanA= 5 A o, sin? A—cos? A ©] & FotedEt (T 0° < A < 90°

)
=g



2. sin30°cos30° - cos60°sin60° 2] FL-S ot =},

YER
=%



2 IHoA ¥ O = AABC 9] - Yo| 1, A o
HEz]229] Zo]= 10cm ©]th. AC = 12cm

o o, sin A 9] Zk&?
@2 @? ®

V7 4 B
@¥  o:

(S YR



ALe)

—_

o 182 WA 5] o7t 1<l
Z

t}. sin 50°, cos 50°, tan 50° &

>

AP Q] Qlof A Z+AF
HBOE Upetolet.

27}

=19



5. the mIlelq Azt o) gro] Relsel AL wE Zeke)
[17]
B
@ sin0° © cos0° © tan4b°
® cos90° @ tan60° ® sin90°

YR
=



oS AFzHH] 9] EE H 17 sin 70° 4 cos 50° X sin 25° 4 tan 70° 9] #&
Fop?

e sin cos tan

25° 0.42 0.90 0.46

50° 0.76 0.64 1.19

70° 0.93 0.34 2.74
@ 3.9188 @ 3.9288 ® 3.9388

@ 3.9488 (3 3.9588



7. BC  AB
& AN = + == o] ghe?
thg 2l — + 2= 1 @

@
@

©)

(SR

)
®

Ul Ok W
O W =~




oh2 23 2ol A =90° 91 27}
AP A A oA HHo ™ &
Aol dhe H 2 513, AB = V5cem,
AC = 2cm, /BAH = x, /CAH = y
A o, cosx + cosy 9 G427

@ 2+245 ® 2435



+7F

=Rt |

& ABC 9|4 sinA x tan B—cos B 9] %<&




S

10. cos?60° x sin 30° 4 cos? 30° x sin30° 2] Zto]l - 4 W), a + b 9] S

Tstofet. (2a, b= A2s)

S ER
=¥

S



11. & 184 AC=16cm, /B=30° <
o, ¢ O 9] 2| 59] do|=?

® 8cm @ 10cm @ 16cm

@ 25ecm ® 32cm




12.

©]7} 20cm ¢!
(BPT = 60°
=7

@ 3cem

® 6cm

® 10cm




FolA AB 2] Zo]

?

L)
=

7}

FA}
=

@ 2

B3 V3

@ 2

D 1



14.

o 1A AA 4x -5y +20 = 0 x
59| o] Hio] o]F= 7 gt & o,

tan 69| 327

DO | =
SR




15. o= 4% T &4 &2A27 (F,0°<A<90°)

@O A9 #to] AXH tanA 2] g A}
@ A°] Zto] AXH cosA Q] F= ATt
® A9] #to] A sinA ] = At
@ sinA°] AL 1, HEE-2 00l

B tan90° 9] Zre Ask 2~ oltt



16. Tt 12°] AABC 9|A

@D 6.82

AF7}

(Af2tulol #)
z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
? 6.947 3 7.071 @ 7.193

3 7.314



@ 9

® 12




18. tanA = V3 & 1}, sin? A — cos? A 2] gt

)

Mo

N



19. oS % tanA — %01 o), sin A — cos A ] ZE(F, 0° < A < 90°)



B
e

o)
mlo
ol
gl
Mo
ol
o
‘ K
4
Rl
il
2
o
fl

@ Sin230°—|—008245°:%
@ Sin260°+c05230°:%
® tan4b° = cosd5° = V2
@ 005245°Xtan60°:g

1
® sin90°x cos60° —cos90° x tan 60° = 5



21.

3V3sin60°cos30° + 2tan60° + cos? 45° = A ko 2
AL 12H?

o 15\/§+2 @ 15\/§+3 5 17\/§+2
@ 17V3+3 8 17V3+5

4 4



22. 0°<x<90°sin(x+30°) =1 ¢ o, 2cos x x tan x 2] FF?

D V2 @ 3 3 242 @ 243 ® 343



23. o2 I"H3 22 A ABCD O
A cos x &] 3t Fotolet.

a & cosx




